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Needs Analysis Capital Required to Solve Cashflow 
Shortfall
Why are the Shortall results in Detailed and Splits modes sometimes different and what is “Capital Required to Solve Cashflow 
Shortfall”?

The Needs Analysis Calculator in Detailed mode answers two questions to determine how much capital I need:

Given the amount of assets and cover I have, how much capital do I need to extinguish my liabilities, together with
How much capital do I need to provide for future income and expenditure

Whereas in Splits mode, we only solve for the present value capital requirement, the idea in Detailed Mode under future income/expenditure is 
that you can’t use income in, say, years 5 – 10, to offset expenses of years 1 - 5.

Because you can’t use this income against the expenses, you need to invest sufficient capital now in order to make up the difference.

The capital you require in addition to (1) to cover (2) is deemed Capital Required to Solve Cashflow Shortfall.

The total capital required has always included this amount in the "Detailed" mode of Needs Analysis. However only in recent versions of Xplan 
have we explicitly allowed for it in the Client Needs Display page.

Example 1: Income is of a longer duration than expenses

20 years of income @ $25,000 from the current year

10 years of expenditure @ $50,000 from the current year



Under Splits Mode, our shortfall is:

Plus          PV of Future Expenditure Required: $370, 322

Less         PV of Continuing Income:                  $333,144

                                                                           $37,178

Under Detailed Mode, the income to be received after year 10 cannot realistically be used to offset the expenses prior to year 10, so we need to 
invest sufficient capital now in order to make up the difference. The full year 20 value of all the income is $801,169, discounted to present day (by 
the return on investment) is $333,144. However of the $333,144, the incomes after year 10 has a PV of $132,854.  This is the Capital required to 
compensate for the Cashflow Shortfall experienced  year 10.before

Our shortfall under Detailed mode is therefore:

PV of Net cashflows                                       $37,1778+

Capital Required to solve Cashflow Shortfall $132,854

                                                                        $170,032



Example 2: Expenses are of a longer duration than income

10 years of income @ $50,000 from the current year



Under Splits Mode our shortfall is

PV of Future Expenditure Required:    $286,493-

Less            PV of Continuing Income: $400,579

                                                                   ZERO

In this instance, zero will also be the result in Detailed Mode because we assume that we save our surplus of income over expenditure for the 
initial 10 years at the return on investment. We will therefore have an investment of sufficient value to cover drawdowns equal to the required 
expenditure.

So, by our two conventional measures, we will have sufficient capital to cover expenses.

However, if you also wish to consider the insuring against the loss of the capital required from year 10, when there will be no continuing income 
but expenses for an additional 10 years, you will need to invest sufficient capital now in order to make up the difference. The incomes from before 
year 10 cannot be used to offset expenditure after year 10, and the required expenditure not covered by income is $114,085.  This is the Capital 
required to compensate for the Cashflow Shortfall experienced  year 10.after
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